x=— A uf], 4x% - 4x + 1 9] ZE2 oot
» E
> Heh: 3

V3+1
2
4x? —4x+ 1= (2x - 1)?
= (VB =3

—2x-1= V3o|BE2




2. 72 Bol7hxty+ 12 AAZEE GolTk (x4 ) - (x4 9) -2
d o, AIZ2e] Aol=ax+by+cOlth a+ b+ c Y TS T L.

[
[—

>
|> b= )

oHd =

xty=X=F9
X?-X-2=(X+1)(X-2)
x+y+1)(x+y-2)
w2hA Al E o] dol= x4+ y-20]|2=2
a+b+c=1+1-2=0°|th




X210 o) g ool

[
H -

>
> e 13

13x28-13x4  13(28-14) 13
52 —1 B+ 1)GB-1)




4. V592118 =59 + 60 9] ZF<S F5loizt.

59 =t 2 2| gotH

V592 - 118 =59 +60 = /2 -2t —1+ (1 + 1)
=VZ-2t+1
= /(t-1)?
=|t-1] =159 - 1| = 58




5. x=1+ V2, y=3V2-4 ¥ o, 3x% — 4xy +)? 2] k& Ttz
=1

[ 2
> Heh: 35-14v2

B

3x2 — 4xy + y?

= (Bx-y) (x-y)

={3(1+v2)-(3v2-4)}
A1+ ¥9) - (332 1)}

= (3+3v2-3v2+4) (1+ V2-3v2+4)

=7(5-2v2)

=35-142




x+y=4,xy=2%L4 , 3x+y)? - (x+3y)? o &S Foti=} (H,
x>y)

> E

> Hebl 642

B

(x-y)?=(x+y)?-4xy=38

Lx—y=2V2(x>y)

(Bx+)% = (x4 3y)® = (2x - 2y)(4x + 4y)
=8(x+y)(x~-y)
=8x4x2v2
=642




7.  2a-5b=—-4,4a%+25b* = 56 4 T, 2a + 5b 9] F+- Fotolz,

» =
> Heh: 146

B

(2a — 5b)? = 4a® + 25b* — 20ab
(=4)2 + 20ab = 56,ab = 2

(2a + 5b)? = 4a® + 25b 4 20ab
=56 4 40 = 96

2a + 5b = £ V96 = +4 V6




8. 9x% —12xy +4y* - 6x + 4y + 1 = AEastot,

9x? — 12xy + 4y —6x + 4y + 1
=(3x-2y)2-2(3x-2y) + 1
3x—2y = AR XS5,
A?2-2A+1

=(A-1)?

=(3x-2y-1)2




9. The AAS F 310~ 12 o] Wolx A sH= 47k obdl 2L

@ 2 @ 4 ® 5 @9 ® 10

B
(38-1)(3%+1)

= (3* —_1)(34 +1)(3%+1)
1

=B-1DB+1B2+1)B*+1)(3%+1)
=2X%X4x10 X% 82 x 6562




